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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - 11, 2012 SC 1005
Henfera et - 11, 2012
SCIENCE / fag™
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifa wu : 3 gue Ifereraw 37k : 90

General Instructions :

(1) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

() T U U I S U, UT-37 T WM& F ST T | SR SHI IR 6 e o I e
gl

(i) Ay erfremd ¥ |

(i) T WA T W HE T WH T § g WH-E B F u" g # ofiadt w=e femm e #
T U H 319 hael Tk il =197 i SR fera & fau 501 ghd ¥

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WT-37 % W H&A 1§ 3 % YT Ueh-Teh 346k h & | 37 SR Ueh ITeg AL Ueh a1 | & |

(vi) ~ WTI-37 % YT H&A 4§ 76 YT -8 ekl & & | 7ok S A 30 9T&at H o ¢ |

(vii) ~ WHT-37 % T¥7 H&AT 8 § 19 T T -1 3¥ehl o & | Tk SO A 50 9Tal H <7 2|

(viii) WRT-37 % F¥T H&A 20 T 24 F YT Urel-UTa ekl o & | TToh ST T 70 P1aat | < T |

(ix) WF-& % U GE 25 ¥ 42 F YT YARMHSE hivad R R sgfohedt ued €1 Jds ged
Teh 3k H1 1 U T =R faeredl # & 9kl hadl Uk Fod 39ga faehed 1 T |
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SECTION - A/ 907 - A

An element X has a valency 3. Write the formula of its oxide.

forelt T 1 HaSTohdl 3 ©, 3T STaTEE & 9 fafau |

Name the term which is used for the following :
(i) The left and right halves of the body have the same design.
(if) Animal tissue differentiate from the three embryonic germ layers.

31 vsal o AW fafen st fr=fafea & fag @ fee s @
(i) YRR % 7Y ¢ TR Y A 9HT BT AT T FHH el ¢ |
(i) 9 % Skl o1 f9E I RITHRR TR B2

What is Smog ?
T ey fRd wEd 82

An animal is dorsoventrally flattened, has three embryonic germ layers and is acoelomate.
Which phylum does it belong to ? What are they commonly called ? Give one example.

T S, g YRR Yseuria =wqe, @ HIfenE TR 9 991 37 3R arafas <ever e €, fod
WIEEH o ST M1 & AR ¥ Sid WM €9 W 947 6 S € 2 Teh SR ST |

Name the causal organism of AIDS. Why a person suffering from AIDS cannot fight even

very minor infections ?

TgH & WY el & AW fAET | Tgd ¥ HehiHa =fed BI HeRHUN 1 HRIEAT T T8I HL 1l
g ?

The volume of 50g of a substance is 20cm3. If the density of water is 1 g cm —3, will the
substance float or sink in water ? Justify your answer.

50g &t T SR 20 cm3 &, 9% ST61 15 1 g em — 3 & 1 Ie1ed ST B Fom A gam 2 379
3T ! gfte hIfST |

List two conditions which need to be satisfied for the work to be done on an object ?

3 2 feafaai &1 g oAU S foret ag W el 63 & fog stmereess € 2

Calculate the number of Aluminium ions in 0.051g of Al>O3. (Atomic mass of
(Al = 27u, O=16u No=6.022 x 10” mol ~ 1)

0.051g AlyO3 H UIfHfTaH ST i HE1 o1 TRkl IS |

(Al = 27u, 0=16u, No=6.022 x 10* FfHrel)

What are isotopes ? Write 3 isotopes of hydrogen. Why do isotopes show similar chemical

properties ?

TN 1 80 & 7 TREISH o i THEAT fafay | goeenfish T8 TEmEfTe o 1 g9iid
g2
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10.

11.

12.

13.

14.

15.

16.

17.

(@) Explain Bohr and Bury rules for distribution of electrons into different shells.
(b) Draw the electronic structure of element X with atomic number 17 and element Y
with atomic number 16 ?

()  fafvm sl 9 scoieg[ 1 9@ o faau % fag R qon s & fFEmi S s S
(b) @ X et TN GE 17 § a1 9 Y FSaet 1] §@ 16 7, % wEifves ST 5
aee fos sfEd HifsT |

Differentiate between Bryophyta and Pteridophyta. Give one example of each.

TR 997 CREwR H 3im fafet g o1 T T 3eewvl fafgn |

Classify following organisms based on presence of true Coelom.
Spongilla, planaria, scorpion, birds, Ascaris, Neries.

frafafaa Sl sl 376 Iufterd ardfaeh <Rl o STER W aFfighd ity -
wifsret], =i, foes, vafl, twhfiE, {9

Write the symptoms when following organs are targeted by microbes.

(@) Lungs (b) Liver (o) Brain.
g&y Sfial gr Fefafad e W EH arel skl gr 3aae da fafae -
(@ WS (b) T ()  whE=h

(i) When an object is immersed in a fluid, name the two forces acting on it ?

(if) On which factor the magnitude of the upward force acting on this object depends ?
(iii)  When will this object sink ?

() 9 T % hl FRE WA H A @1 S A1 36 W HE I A & Fadl o AW fargu |
(i) T WFR A e § v a1l 5 1 IR fRT wRe W AR g ?

(

iii) 8 & H g ?

Define 1 Watt of power. A lamp consumes 1000 ] of electrical energy in 10s. Calculate its
power.

T 912 v skl aRefia ST e wir 1000 ] faega St sl ST 10s H T ©, 39! wife
qRehfeTd ohifTC |

How much work should be done on an object of 120 kg to increase its speed from 25 m/s to
40m/s?
forelt v 1 T 120 kg ©1 T9 9% & o &I 25 m/s H 40 m/s T g H foran T el

JTd hiTeId |

A sound wave travels at a speed of 399 m/s. If its wave length is 1.5 cm. What is the
frequency of the wave ? Will it be audible ?

Teh i T 399 m/s T TG Xt &, G ST T01 84 1.5 cm & O T =t eqgfa = &t ?
FIT Ig FA TIA 2
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18. What are the two forms of oxygen found in the atmosphere ? What is their importance ?

JgHed H U S Sl SRS o S ¥ 1S 7 IR 1 TE © 2

19. (i) Name two biologically important compounds that contain both oxygen and
nitrogen.
(ii) What is the role of nitrogen fixing “bacteria’ ?

() AR SR AEEISH o &l Hecequl Sifosh ATkl & A FIaisy |
(i)  EerSH femieTor SeRifan s am fie § 2

20. (i) What do the following symbols formulae stand for :

@ 20 (b) O € O3 (4 HO0
(if) Give the chemical formulae of the following compounds :
(@) Potassium Carbonate (b) Calcium chloride

(iii)  Calculate the formulae unit mass of Alp (SO4)3

(Given atomic mass of Al - 27u, S - 32u, O - 16u)
G  Ffafed ydie g 7 g & -

@ 20 b) O, © O, (d HO
i) frfafaa At & TaEte g fafe
(@)  dRRwEH wEie (b)  HicwEH FIRES

(i)  Alp (SO4)3 1 Y3 T THM FRehfeTd hIfST |
(feam & - Al 61 TRHIY E=99H 27y, S = 32u, O = 16u)

OR/31¥aT
(i) Write the chemical symbols of two elements
(@) Which are formed from the first letter of the elements” name.
(b) Whose name has been taken from the names of the elements in Latin
(if) Define Avogadro’s constant and molar mass. How are they related to one mole of

an atom, molecule, or ion ?

() 373 T h THEER Ui fafay -
(@) S T % A % UE eR | o |
(b) Tk A ifed § 3 el & A @ fore Mo )
(i)  STErTRl fEeRien T Wi GAM 1 qREIYG RIS 3 9], 9] &R o= A1 &0 9

fore yeR wvaiferd § 2
21. Name the five classes of vertebrates. Compare any two on the basis of their :
() Habitat (if) Covering of skin
(iii)  Respiratory organs (iv) = Chambers of heart (v) Reproduction
Seteel (HIEF W) & Ui o o fafae | 9 & onar R = <1 i gor S -
()  omE™ (i) O A1 GRS
(i) ~ vIET T (iv) I RE (v) 9
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OR/21era
To which division of plantae do algae belong ? Write one characteristic of the

division. Give two examples.
Name the group :

(a) Which includes unicellular eukaryotic organisms
(b) In which mode of nutrition is saprophytic.
() In which seeds are not closed in fruit.

Classity flowering plants on the basis of the number of cotyledons present in the
seed ?

ST it % form fedtsm & sidiia Yare o €7 fedllsm @1 s sfyataor qen @
STl ferfam |

EITT%IJHTH'I%I'F@'Q:

(@) o faid T IR LhRERi Sid & ¢ |

(b) TS Woor o STER Tq et 2|

©  foud &S v & < g Tl 2 |

et o Sufeer siSTol st TEAT o YR T YA Uredf <l afichd hifera |

A light and a heavy object have the same momentum. What is the ratio of their
kinetic energies ? Which one has a larger kinetic energy ?

A ball is dropped from a height of 10m. If the energy of the ball reduces by 40%
after striking the ground, how much high can the ball bounce back ?

= 10ms —2
EWW%WHW@HW%%WW% EREIRIIGEASTE I IR iG]
FNT? Trad nifast St sAfes Bl 2
TS St I 10 m I = 9 FRE ST 8, S § o™ o 915 At aid w1 St 40%
2 S & @ S fohaT a1 qoh aTae 3T ?
(g = 10ms —?)
OR/37eraT

State the law of conservation of energy.
Show that the energy of a freely falling body is conserved.

el GXeoT 1 T fafaw |
TS o Tt Y fRdt g i So1t GReTd et § 2

How the sound propagates through the medium ?

Show a sound wave in graphic form and mention crest, trough, wave length and
amplitude of the wave in it.

Why the sound waves are called longitudinal waves ?

wegm § &gt fohe YRR Gofid BIdl & ?
&1 T R WRT T9 YSi¥id HIfSTT TR STH &1, T, a0 <& 9 a1 o1 A9 <9I |
e T 1 3o I F hEd © |

Page 6 of 17



24.

25.

OR/21era
(i) Which property of sound wave determines :
(@) Loudness (b) pitch
(if) A SONAR station picks up a return signal after 3 seconds. How far away is the
object ? (Speed of sound in water is 1440 m/s)
(iii)  How can reverberations in a big hall or auditorium be reduced ?

(i) =& T H HH T (a) TIA (b) TR Rl Fifd war g 2

(i) T MR WLIE WEkid Gohdl 13 YhUE F TIA I BT ¢, I&g ot T2
(STt § &af i =1t 1440 m/s B)

(iii) el |1 wo A1 o B § TN hd A fohT S © 2

(a) Give a schematic diagram of Carbon cycle in nature. State the importance of carbon
cycle.
(b) What is green house effect ?
(a)  9hid | ShIsA sk K1 HANG GG | HIe =k 1 Heed folEu |
(b) U TSE UHE F S ?
OR/3TeraT
(@) What makes the biosphere dynamic but stable system ?
(b) Draw a labelled diagram to show the oxygen cycle in nature.
()  SiaHed w1 HF e SR Terlt s § ?
(b)  Fhid | SIS sk i WM o T AHifehd fo e |
SECTION - B / 4T-9
While verifying the law of conservation of mass in a chemical reaction using a precipitation

reaction, Savita carried out the following procedure :

() Dissolved the required quantities of BaCly and NapSOy in distilled water taken in

two separate beakers.
(ii) Determined the mass of both solutions separately.
(iif)  Mixed both solutions in a third beaker, using a glass stirrer.
(iv)  Determined the mass of white precipitate formed after mixing both the solutions

The wrong step in the procedure is :

(@) Step (i) (b) Step (ii) (c) Step (iii) (d) Step (iv)
Tt Afafsran & geaam wiemn & fram &1 geme srasmr sifvufean g/ & o afaar 3
g fafy & 7= =1 s

(i)  BaCly T NaySO, Fi ST AH STHd ST § S STRT-3TerT siiehl H Hiet |

(i) QI Tl 1 STET-STERT GeH w1l |
(il) = DI TS B TAN HI GY AT TeraH1 ol AR sieRe o fafsa feran
(iv) QM foeras o fafsa M o averd T WG STAaTT ohT SeHT HIT |

Page 7 of 17



26.

27.

TR faf & Terd =R o

(@ =) (b) =TI (i) (c) =i (iii) (d)  =(v)

Barium Chloride reacts with sodium sulphate to form Barium sulphate and sodium
chloride. In an experiment 20.8g of Barium Chloride reacted with 14.2g of sodium sulphate
to form 11.7g of sodium chloride. The amount of Barium sulphate formed in the above
reaction will be :

(@) 35g (b) 27¢g (c) 233¢g (d) 230¢g

S IS qo WifeaH Hethe i Afufsean § A wethe qon Hifead FellEs ad 81 Th

T H S 20.8 g IRFH FAREE 14.2 g Hifeaw Tethe ¥ Afufsren wwar € @ 11.7 g Hifeam
FARTEE YT B &, 39 sifafsran § i dethe 1 | o1 2
@ 35g (b) 237g © 233g d 230g

Four students observed the given specimen carefully and recorded its one adaptive feature
and phylum as given below. The correct identification of the adaptive feature and phylum
of the given animal is :

(@) Moist and slimy skin, Arthropoda (b) Moist and slimy skin, Annelida
() Streamlined body, Platyhelminthes (d) Streamlined body, Annelida
IR BHE A fU U T w1 Afea fora iR AEEgds IR STTRfcd eI T WIEAH i A

feugar R foran | feu U T # W&t sTshiara Ao 9 Fsed i 989H ©
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(b) 7\ = ferafedt @@=, wHifae
(d)  oRREE IR, e

28. Four students observed the specimens of two plants and sketched them as shown below.
They noted in their notebook the identification and the names of the group to which these

plants belong as given below. The correct identification is :

(@) A -moss; Bryophyta
B - fern ; Pteridophyta
(b) A - pine ; Gymnosperm
B - leafy plant ; Angiosperm
(c) Both A and B are moss and belong to Bryophyta
(d) Both A and B are ferns and belong to Pteridophyta.
IR BHE A A Wi F FAI I Yfea foran IR = gwie T fos s 3R 5 il @ aee

F I N A A 9 RUTER 19 e o H forg, I weun i
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29.

30.

@) A -, SEWHE
B - T, SRETHE
(b) A -, e
B - URIIGR dren, wisraredd
(c)  ATBIHI A1\ § IR SRR % s{atd o
(d)  ATBIHl % ¢ 3R REwrger & sfarfa e ¥

Najma observed the specimen of a bony fish and pigeon and sketched them as shown
below. She put them in the same phylum. The feature that places them in the same phylum

is:

(@) pointed head (b)
() presence of seales (d) post anal tails

TS A SAfee Heel oIk W % T <@ oiR e feuger fafa e sen S 1 9uA
e H W, SAfarston, fSeeh SR W S8 99 HEdd | Wi d € -

(d) “TEEEYD

After observing the specimen of a plant four students sketched it as shown below and
identified the division of the plantae kingdom to which it belongs. The correct
identification is :
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(@) Pteridophyta (b) Bryophyta (c) fungi (d) algae

IR BE 4 TH WY o6 T w1 940 fRa oiR A fouger fafm fea oir fm e sva &
ST I AT & 3Hh a1 i TG i, TEl TG B :-

Anhrudast
Clushut A
\ ?'!\

F oo

Ay \y / W
™Y ,“'

)  <REmEa (b) SRR () S CIR L

31. After observing specimens of two flowers A and B four students reported their conclusions
about the groups of plants to which these flowers belong. The correct reporting is :

A B
(@) Both A and B are flowers of dicot plants.
(b) Both A and B are flowers of monocot plants.
() A is flower of monocot plant and B is flower of dicot plant.
(d) A is flower of dicot plant and B is flower of monocot plant.

<1 g} A 91 B % TAT Sl =R D1 A Ufad o Sk Uil o ot o afkom, fees safa 9 e
g, T fopu, wel uftomm € ¢
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32.

33.

A B
a)  ATUB M g fgeliwett dig & §

(
(b) A TTB IMI I Tk Seraelt 919 & 2 |

(€ AT T SIS WE g B g fgsierast o) 6 g
d) AT TEelsost Wd den B YT T Siroras 4 o ¢

Four students represented the sequence of developmental stages during the life cycle of a
mosquito as given below. The correct sequence is :

(@) egg, larva, pupa, adult. (b) egg, pupa, larva, adult.

() larva, egg, pupa, adult. (d) pupa, egg, larva, adult.

IR BEI A A= & S =sh i AR STaeeredi 1 A = 1 [TUIER eiid fhan w2t e

g
(a) i, A, I, S9%h (b) S, I, AEl, TR

(c) @, s, o, T9%h d) o, 2, e, g

While determining the density of solid by using a spring balance and a measuring cylinder,
the correct way of reading the liquid level is shown in figure :

e

l |
@ A (b) B © C (d D
FAMITR ol 21 A9 fafeie 3 TN §RI ™ 1 o9 1199 o QR TR & &R 61 I1edish o
T TE T T AT NG T -
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34.

35.

Y

—
< =
A : : ;
[ |
@ A D

The mass of a solid iron cube of side 4 cm is to be determined. Of the four spring balances
available, the one best suited for this purpose would have :

(@) range = 0to 100 g, and least count = 1 g.

(b) range = 0 to 100 g, and least count = 5 g.

() range = 0 to 1000 g, and least count = 10 g.

(d) range = 0 to 1000 g, and least count = 25 g.

4 cm YT & T B9 @l & ¥4 Hl 599 HI9A & o = Iuctsy IR FAMICR qensti § 4 39
*rd o faw waifeen S9ga gor e :

(@) 9RE = 09100 g, 3R sTeuamish = 1 g.
(b) IR = 09100 g, IR HGTHE = 5 g.
()  IRER = 081000 g, R FUaH® = 10 g.
d) IR = 091000 g, R Feq@F = 25 g.

The spring balance shown here is used to measure the mass of a given solid. The mass of
the solid is :

@ 115g (b) 118g © 120g d 125g
ferst ® guifedt IR T 1 SURNT Tk S H1 SAHH WA & fA fhen a1 S 1 gemE ©
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36.

37.

grams
==
=<0
252 25
50 - 50
75 =75
U 100
125 =125 = |
150 = ts0
1752 =175
2003 =200
2253 = ws
250 =250

@) 115g (b) 118g € 120g d 125g

A metal ball is hanged from the hook of a spring balance. The ball is first kept in air, then
fully immersed in tap water and then immersed in salty water. The readings of the spring
balance will be :

(@) Maximum in air and minimum in tap water
(b) Maximum in air and minimum in salty water
() Minimum in air and maximum in tap water
(d) Minimum in air and maximum in salty water

Teh T ! ST ] HAMIGR Tl o §F O IHAT T ? Teel st bl g1 | @, 9% I a1
& It § g8 e garn AR fR daviia Sia  gam, HAFICR gl S uedish ar

(a) TN H STfereRan A9 T % A H =LA |

(b) T H STfeRaT qU AT Sl H A |

(c) B H =AqH q91 I o I H feehan |

(d) T H IAH T A S H TR |

To compare the pressure exerted by a cuboid, a student was given four cuboids. Two
cuboids are made of iron of dimensions 20 cm x 15 cm x 10 cm and 15 cm x 10 cm x 5 cm
respectively. The other two cuboids are made of aluminium of dimensions 20 cm x 15 cm x
10 cm and 15 cm x 10 cm x 5 cm respectively. To perform the experiment effectively the
student should use :

(@) aluminium cuboid of dimension 20 cm x 10 cm x 5 cm.
(b) aluminium cuboid of dimension 15 cm x 10 cm x 5 cm.
() iron cuboid of dimension 15 cm x 10 cm x 5 cm.

(d) iron cuboid of dimension 20 cm x 10 cm x 5 cm.

Teh ST GRI ST T 19 i gaiT o fT T S 1 IR 51y feu e < 9y &g & o §
SRt fomd A9 20 cmx 15 emx 10 ecm 3R 15 cmx 10 cm x5 cm &1 & & 19
tepfafem & o € et fomm 9 20 cmx 15 emx 10 cm 3R 15 em X 10 cm x5 cm # |
AT hl GHIERTE & § A ok foTT BT Sl T—ART AT AT
(a) TqfafTan =Y fSeent o 20 em x 10 cm x5 cm ® |
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38.

39.

(b) ﬁqﬁﬁ‘qﬂwqu15cmxlocmX5cm%l
) e 1 EAY fent fomm 15 cm x 10 em x5 cm € |
d) g a1 =T et famme 20 cm x 10 cm x5 cm € |

To compare the pressure exerted by a cuboid, Neha was given four solid cuboids made of
plastic, wood, aluminium and brass. The dimensions of each cuboid are 15 cm x 10 cm x 5
cm :

To perform the experiment effectively she should choose.

(@) plastic cuboid (b) aluminium cuboid

() brass cuboid (d) wooden cuboid.

Tsh FF1Y R UL TIIIT T <1 ki ol & fort 81 ol wiifesh, oiehel, Tgfafem qe diad & a9
IR 3G S ST T FAF T B AT 15 cm x 10 cm X5 cm R

AT hl GHTERTE S ¥ i o foTT 39 <1 =fen

(a) I Y (b)  UgEfEE =Y

(c)  diad sl =T (d) RSl H A

While verifying the laws of reflection of sound Arun heard the sound of watch clearly
through tube T». If the tube T» is turned through 10° away from the screen RS, then to hear

the clear sound again through this tube he should turn the :

R
P 10
Reflecting surface &Y'
& i
Watch 6‘3 S Ear

(@) tube Tqthrough 10° away from the screen RS.

(b) tube Tqthrough 10° towards the screen RS.

() screen RS through 10° away from the tube T».

(d) reflecting surface PQ through 10° towards the tube T7.

taf % qUERA % Ml % HRAMUG T % aRH 01 7 Tedl Ty g 5l 1 T ST G |
g 9159 To &I RS Te 9 10° T HH1 A1 S € 9 36 7ol 511 I: T & A & foae 39
A =T

P
e T8

(a) :lFﬁT110°RSﬁ@E§ (b) el T 10° RS US i &
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() RSTEHRI10°THTL,ET  (d)  Tekih Hqag PQ &l 10° Fall Tq i T—E

40. To verify the laws of reflection of sound, Zubeda sets up her apparatus as shown in the

given diagram. Her experiment will be performed successfully if the :
Reflecting surface
N0y

Screen -~

N

Source of sound y
e
Detector of sound
reflecting surface is a cemented wall and screen is a foam padded board.
reflecting surface is a foam padded board and screen is a cemented wall.
reflecting surface is a sheet of white cloth and screen is a wooden board with many
holes in it.
(d) reflecting surface is a wooden board with many holes in it and screen is a sheet of

white cloth.

e & TEdd & FEE 1 T w6 % fau e 7 SuRel ol o § St fe-a1

foRaT | W TN THeTdTgadh Tohan ST 47g -
Qe HdE

Y B~

—~

oOIG
NN

\

& T T &
x_

© @ e
a)  TER ©E HIHS I T SAR SR 9al TH WA diS ©

(

(b) e TdE WHIE A1S 3R Ugl T Hiew! dER T

()  WIeke UdE Uk The HUS i vie AR vl fog ga awel o1 ae 2|
d)  TeS Ude fog gad aehel S a3 Uei 9the HUS Hi we ¥

41. A strong transverse horizontal pulse, created at one end of a string, is observed to complete
5 journeys along its length, before fading out. The initial reading of the stop clock used in
the experiment was 5 s and the final reading was 55 s. If the length of the string for one
journey is L metre, the speed of the pulse, through the string is :

(@  (L/55)ms—1 (b)  (L/50)ms—1

©  (L/11)ms—1 d  (L/10)ms—1

SR & T T T 3w Yore Aifat U T I e | 5 9R 9Rd e <@, T % Tad gH
¥ vgel WA H ST foRm-uSl § URfE qIedie 5 s SR SAfan igdieR 55 o411 Afe St &
SIS Tk ool § L HIeR €, SR | TiE i i & -
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42,

(@  (L/55)ms ' ()  (L/50)ms '
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The following apparatus is available in a laboratory :
(A)  Thick silk string

(B) Thin silk string

(©)  Thick cotton string

(D)  Thin cotton thread
(
(

3!

) A stop clock
F) A table clock
A student can do his experiment, to determine the speed of a pulse through a stretched
string by choosing the apparatus labelled as :
(@) Aand F (b) B, Eand F (o) Cand E (d) DandF
TR H frAfeTRed Suehvl Suete € :-

A)  HE ®E & ER
B)  Udell WM I €

(

(

(C) W gd %l el
(D)  9ad Hd I EET
(B) T form-wre
(E) T oct-ore

T B 9 FAM H T+ SR R TS i T A A o QA= Sifehd STl <l AT AL
THA T AT -
(@) A3SREF (b) B,E3RF () C3iRE (d) DSREF
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